3 PIECE ROD END BEARING [ 4144 ) 2 Minebea
- ~TiER
Oy EIY FERU
B# % Materils

HR-E HR-ECR
RT«  HOLEUTT SUS630 25/ L 2 W b
SN > Cy S N—3 g0 o BN
Giikial)) _i‘é D% _\/3/‘ " H (S 24
L—2Z 410 ZFVL 24 410 25V L A58 N
R=)L R 440C ATV L A4 b NI M
HO—-LoHo= ] 1 i A
_/ AT
- - -
| B'XESH Description of Types b8 ‘ %)
A
HR L xx E CRF B | a2
T F—084TDTI—R=y I NERDBE T EER | .y
759284 T DT )Ry T ILDIHE“FN" %8R w w
SIS = 97 L (A-MBF) DI & “FAS" % B8 TH
I
HEERT HR-E
> AETHERT
> EACEROBAUEER
- BAERE
8457 mm
W BERYY
mags %) 0 o A f ™ L] @] 90 |SeDB Eﬁmﬁi* il mE || e
85 = a3 J ) ]
H7 | £05 | e +0.13 | =05 JIS 2 #% +07| E | (B8B) (88| Y7 ) N KN g
HR3E 3 16.0 7.0 525 30.0 M3 X 0.5 10.0 18 5.2 8.73 3.62 2.94 451 0.73 25
HR4E 4 18.0 95 7.75 35.0 M4 X 0.7 16.0 16 5.8 11.11 6.27 353 7.84 1.27 30
HR5E B M5 X 0.8 10.29 12.84 2.10
HRGE 6 20.5 110 8.75 395 V6 X 10 22.0 15 7.8 13.49 451 5.09 82 299 35
HR8E 8 23.0 8.25 46.0 M8 X 1.25 290 14 10.9 15.48 26.77 558 33.44 554 40
HR10E 10 26.0 125 10.75 47.0 M10 X 1.5 ’ 8 12.2 17.46 37.65 6.76 47.07 7.84 65
HR12E 12 34.0 16.0 13.25 62.0 M12 X 1.75 37.0 10 15.4 22.22 62.46 8.33 78.06 1294 126
HR14E 14 36.0 17.0 64.0 8 18.9 25.40 82.96 9.02 103.65 17.25 140
5 X 2. H
HR15E 15 38.0 18.0 14.25 65.0 Mi4 x 20 380 11 19.0 26.19 85.90 9.31 107.38 17.84 165
HR16E 16 39.0 19.0 15.25 66.5 M16 X 2.0 395 10 19.2 26.99 100.71 9.70 125.81 20.98 195
HR17E 17 41.0 200 : 725 M16 X 1.5 42.0 12 204 2858 101.40 10.29 126.70 21.08 220
HR18E 18 43.0 ' 16.30 79.5 M18 X 1.5 46.0 10 ’ ’ 120.62 12.16 150.72 25.10 250
HR20E 20 45.0 220 ! 83.0 M20 X 1.5 50.0 13 22.9 31.75 121.30 12.84 151.61 25.20 290
HR22E 22 52.0 ’ 19.30 86.0 M22 X 1.5 51.0 6 27.1 34.92 156.21 15.10 195.25 3255 450
HR25E 25 70.0 350 95,30 105.0 M24 X 2.0 59.0 15 32.3 47.62 300.08 20.88 375.10 62.56 1150
HR28E 28 75.0 ’ ! 110.0 M27 X 2.0 62.0 14 36.8 50.80 283.70 23.24 354.60 59.13 | 1500
HR30E 30 78.0 37.0 26.30 120.0 M30 X 2.0 65.0 40.4 54,77 271.93 24.81 339.89 56.68 | 1800

I = Notes

(1) ATz UBIARTU VT OBREREEXIL. 7FVT7ILT
I=J0-EOLWThANSWESDEER>TEDET,

(2) ARV PIMRICT BT EICL). FEMAE FITE AT
BETY,

3 AV -AIIEELRVET,

4. ZITINTEE Y1 X 0.051TmmMAX

O BEICH > TIZIRAT[CTHHL LS,

RETA X ~3 ~6 ~ 10 ~ 18 ~ 30
H7 NE + 10 + 12 + 15 + 18 + 21
(um) 0 0 0 0 0

Page 46 Copyright 2006, Minebea Co., Ltd.





